ol U 4
. X
s £
)

/%’\ ¥ pa A > A

CONF— KTy TIE, EOBASRET HBENDHHHE
| | xizkECBAL, TRORE,A SRR AEEIZRIT SN
™ J:D«EEEL/EE_‘L/T:O —_— — N — N
| TRER S RESET, KEROBRASI OIS, B
| mmrrmElcaEEL LS.

[CENEEC ETOBEHEE]
| ESmAEAKREOR L AEE 2T, AR RET
“~é&mo%%Xﬂﬁﬁgﬁbglb—DaDEﬁOTBU,%
| kRS R R ADEE S LCVET, \

EIRISIE, ZHOMDKAE, RIEQEE, THFABORREFC
| $TT B ARECEE RS Y £
SRS

\\ \
kL\\x_ “\ &ﬁ\kw '
'I

" ﬂ L
Y %
e \ Y41 g '
P . )
= ~ 1] N - 1 i
. L I @J/ A L 1209 || 30 2
I 1 r I < -
I ll.l
= ' ’ I
|y
¢ ) £
1 A Pr -
= 7 I
35 Iy A
R 55}& 1 ﬂ

g -
u a %— ) ./ “ 1
= ™N N "'
z | -
j N \.) 2 % / Y X X
‘B 4 T B 5% 3 46 5E K/ b
' & & EREES ‘
| EEE s (R%) 921-2111 t
ALERBERR | 976-8810 o
TR I —EHEEE _ 1] ‘/"
(mrg- )| O 4722 7 .
BWLBXEEES 119 /1
zrE 110 \ L T
‘t. O,’,

40 &

20234 (#M5%) 4 AR

‘u

> i
‘wd || 1l A &/ N -
- mlSeR § &, ~ oh ] “~y |- ,_II - ]
nore -8 ,.“ i Lqé : - ! 50 43 [ 1n % | o y ]
Pﬂ' . [ & ; ) L] 406}& Il 1] II- ) . :‘. o O
1| —— - 11
=L L ‘.‘ ..l:l-F’ =5 A ek “". [ 1 g | oyl n -
==y = » 4
I 1 7() = 30 545 | " v @ j/(/) /:
1 1 Ié *E*EIJ\$& Y j :El:" h 1Y (}" f;'\ %
20 534 =, @ - gD E 2 5] i
= > @) EEETE Tin D FIE, EAMERIAFA > TREELT R A, i
S e s g e, | @ Fo% ROBESHEELTI LS, 1
. Yo OHETREOSZNDH 355 N
|/,i % ¢ " TR ' %E?g%ﬁ%ﬁﬁl: BEESNNRERED T T 0 RIEEEF 1
1.! / e { -bs \ EF
- 2B/ o NTT N N oxmeREosThoB BB N
v / , Nk I CINBRE T D MBS UNPEROREEL & DRNIEH)
2k 12 _E?EEﬂ{ﬂ A\ | FEET s BRER LG CRAREA LT |
- =1 N o N
) b s ' " il - - -
b a I LIl 1" ‘/\‘\ " S T N
\ & 11 )
I N 7 | y / -- U =
! ‘ Y { B b | ok | ek | wE
| I . \ <& B s fEE% % B 7
x I — [ERs s TS Offssk | Olfesx
) i f\J/x///%E¢$W OtEEE |OhHER [0757vF [oroor
/] = A o , AN R Oz |omeemsb|0759 > F [07590 K
. 2./ SHAR = =
%‘i . | C (\;/Z@%E BEZRAE Ofezk  |Ofes%
= L) . ZL
AN . w /, VLY 7 BAKROEKEEOER
Lo I 4 / ' 09~02m | x ADVEFTING (RTRA)
R &, \gho 1, < , I S ! 0.2~0.5m =

BHEL-LDOTHS,

KCDMEL, E LB RODAED

BT, FRFRITOEFIHR
(FRBEBS F29154E.5F 1090 2)

0.5~1.0m
1.0~2.0m
2.0~3.0m
3.0~5.0m

I somuE

KADEETINS (FRLZK)

1O TETEKTD
2MEDHTETRKTS

25000 %

BENERLULENZKTS

- o

AN =S gL




